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Freaferfaa Fét St amaart A feT TR SHHT SAFIEH HINT -
(i) 3FIT-Y7 4 FT30 Fo7E | GH} o7 377 & |
(i) ¥o7-97 IR @Sl 8 [a91f5d 8 — @e-&, &, T g |

(iii) @S —& : Jo7 G&T 1 @ 17 7 Tgladbediq 397 & | J97 qear 15 @ 17 &id TR J97
gl

(iv) @E—G : J97 G&IT 18 T 23 % 7 ITIT 597 & | I F97 T 37 80 T 100 g &
foRaT ST 1T | F97 G&T 18 747 19 G STETRT F77 & |

(v) @G —T: Y97 G&IT1 24 T 28 5 F09 I97 & | I9% ¥97 &7 I 120 & 150 V=5l 7
ferar ST =feT |

(vi) TE—9: 97 G&I7 29 UG 30 FHIET STETRT F97 & /|

TE-%
WMESH17 T ¢ | ol A a2 |
1. “OFE yid, SRR gt iR framfia ame < o9 aieceia a9l &1 e[ 2 17
freferfad it & & frem gz a2 7
(A) TeE Hi. dus
(B) T«
(C) S &, sheft
(D) Ui foe-<t &1 st 1

General Instructions :
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Read the following instructions carefully and follow them :

(1) This question paper contains 30 questions. All questions are

compulsory.

(it)  Question paper is divided into 4 Sections — Section A, Section B,
Section C & Section D.

(iti) In section A - Question number 1 to 17 are Multiple Choice (MCQ) type

Questions. Question No. 15 to 17 are Source based Questions.

(iv) In section B - Question number 18 to 23 are Short Answer (SA) type
questions. Answer to these questions shall be written in 80 to 100

words. Question number 18 & 19 are Source based questions.

(v)  In section C - Question number 24 to 28 are Long Answer (LA) type
questions. Answer to these questions shall be written in 120 to 150

words.

(vt)  In section D - Question number 29 & 30 are Map based questions.

SECTION - A

There are 17 questions in this section. All questions are compulsory

1. “Human geography is the study of the changing relationship between the
unresting man and the unstable earth.” Who among the following
geographers given this definition ?

(A) Ellen C. Semple
(B) Ratzel
(C) George B. Cressey

(D) Paul Vidal de la Blache 1
2.  YNd ¥ €9 TS & a9 1§ f=fafgd weHi 1 ufeu 3R 92t faerey o1 =3a i

I. Wi ggeh amie gfe ¥ ngeaqul § |
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I1. 3 &I qTiE oh! TSt SgH ohid & |

II1. seht fmior “uretr Tt Tt srferestor gra fekar ST 2 |
IV. 3 3midies foepm 1 e &7 O weres 2 |

foepen

(A) e [, [I & [ 9 & |

(B) oot 11, [T & IV EEl & |

(C) $aa L IITEIVEEE |

(D) HIal, [T IVHE S | 1
3. TSIHifces et o7 398 § -

(A) IFRATE A (B) TETEA WA

(C) T o (D) = T 1
4. Ty=fafga 49 o0 o iiEw (@) TR e ?

(A) e (B) HEHYL

(C) wfwn (D) 7§ 1
5. Trefafad TRi & YRl & & H& I %1 9= HifT

(7RI < YhR) (FR)

(A) 3TNt - 3IE

B) @ - ol

(C) T - Ha

(D) T=TE - 3PN 1

6. rferfad o & =t o swdt 1 forwar 7 & 2
(A)  Tefor Sfeaat 3Tue Sfia o1 T it smmenfia wmerfies foRamett @ et § |
B) T sfE § gTfees ey g A § |
(C) Trefior &1 3 Sfer o1 &1 Sifeet IR dF BT @ |
(D) foret w9 rafRra B1d afe=i 2 | 1

2. Read the following statements regarding Border Roads and choose the
correct option :
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I. Border roads are strategically important.

II. They strengthen defence preparedness.

ITII. National Highways Authority of India construct these roads.

IV. They are helpful in accelerating economic development.

Options:

(A) Only I, II and III are correct.

(B) Only II, III and IV are correct.

(C) Only I, IT and IV are correct.

(D) Only I, III and IV are correct. 1

3.  Sub-field of political geography is )
(A) Behavioural Geography (B) Geography of Resources
(C) Geography of Tourism (D) Military Geography 1

4.  Which one of the following is garrison cantonment town ?
(A) Kandala (B) Saharanpur
(C) dJharia (D) Mhow 1

5. Choose the correct pair of the following types of towns :

(Types of Town) (Town)
(A) Industrial - Itarsi
(B) Mining - Singrauli
(C) Garrisson - Satna
(D) Administrative - Ankleshwar 1

6. Which among the followings is NOT the correct feature of rural settlements ?

(A) The rural settlements derive their basic needs from land based
primary activities.

(B) Inrural settlement, social relations among them are intimate.
(C) Inrural areas way of life is complex and fast.

(D) The spaltsely located small settlements. 1
7. feuwusya I wd 11 o1 A=A ShifSe 3R Fet foshe &1 ==[ it |
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HYA-I SN FHIS HSHTE AT FUAT 1 G HH o 1T THTE el &1 3311, 98 48

THTS T8 T ST Fehdll © |
FHYA-II  WeWTEl § B STo1 39 GEIWTEI 1 W H W WRA H S =13 W
TG AR TR TR |

fompeq

(A) HHITWIIEEE |

B) FHIT TS |

(C) ¥ 1Td 11 HE &, T A I, S 11 ! Tt A& & ¢ |

(D) ®UF 1 1g [ 98l 8 3N HeH [, U 1 h J& AT 2 | 1
8. fava s frafarfga Tormmt & 4 foruehl wiems waiftes 2 2

(A) UR-YrgaiEH emnt (B) UR-shAfead Temmi

(C) aATEferaTs R HeTgide Tt (D) 3NNUL TR Lot 1

9. A et o FfetRad UTTHI ol Ufgu 3R 36k HIATshY o Hal faehed ol giHT :
I.  31=3Nor 3R feraor
1. ik &
IM1. &= favsiem
IV. e
o

(A) T, 1I, 111, IV
@B) I, 11,11, IV
(C) 1,1V, I, 11
(D) T, 1V, II, 11 1

10. Tratafigd < seat o1 s1eaeA Hifve 3Tt g2t foehed =61 == HifST
HYA-I  SHITheH I HoRHUT 1 TTH Tl H TS TR Jeidl gFl 31Tk 9e
STt & |
FUE-II RO SIS A1 1 R g1 St & 41 He nfd & sedl B |
foen .
(A) HIARIAIHE 2 |
(B) i HeH [[EF 8 |
(C) HWITITEE I HUT I, [ HTHE IO & 2 |
(D) 19 [T 8 | e 11, [ o1 ot afomm § | 1

7. Study the given statement I and II and choose the correct option.
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Statement-I : A society which fails to acknowledge and take effective
measures to remove such discriminations cannot be treated as a
civilised one.

Statement-II : Duly acknowledging the adverse impacts of these
discriminations, launched a campaign called ‘Beti Bachao — Beti
Padhao’ in India.

Options :

(A) Statement I & II are correct.

(B) Statement I & II are incorrect.

(C) Statement I and II are correct, but Statement I is not the correct

explanation of II.
(D) Statement I and II are correct, and Statement I 1is correct
explanation of II. 1

8.  Which one of the following railways is the longest in the world ?
(A) Trans-Siberian Railway
(B) Trans-Canadian Railway
(C) The Australian Trans-Continental Railway
(D) The Orient Express Railway 1

9. Read the following approaches of human geography and choose the correct
option of the chronological order :

I.  Exploration and description II. Spatial organisation
ITII. Areal differentiation IV. Regional analysis
Options :

(A) T, 1I, 111, IV
@®) I, 1L, 11, IV
(C) 1,1V, I, 11
(D) T, 1V, 11, I11 1

10. Study the following two statements and choose the correct option.
Statement-I : In the last stage of demographic transition both fertility
and mortality decline considerably.

Statement-II : Resultant population is either stable or grows slowly.

Options :

(A) Only statement I is correct.

(B) Only statement II is correct.

(C) Statement I and II are correct. Statement II is not the correct result
of statement I.

(D) Statement I and II are correct. Statement II is the correct result of
statement I. 1

11. foret Tm W SEe 1 gateres gig fefaiea o 9 fora feafa gt 2 ¢

64/2/2 7 P.T.O.*A
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(A) 3= THE, T TR T 3= ATEH H |

(B) 3= TG, I JIeX a1 I I ¥ |

(C) T Sy, 3= et e ot ST |

(D) TH ey, T goget a e e 1 | 1

12. g3 1 e fmfeiad Sment ° 9 fohaes faa smmar g ¢
(A)  wafiens B) T
(©) T (D) =g 1

13. fogd @ & gef¥a Fefaiaa s 1 afer 3T 921 foshed o1 =5 hif |
I I8 @ 1 qod Tl i § |
II. 399 3cuTed 311 AT H BT & |
111, 3o foe yerR 1 foade, Sues < 3TTergaehdl it 2 |
IV. 389 49 Jepr shl o T 9olTelt shY Srregaehdl &l 2 |
foeped
(A) HEAIIIFRE |
B) FAAITIVEER |
(C) HaAIFIHEF |
(D) HaA IITIVHEEZ | 1

14. frafafed § & oW w1 @i snaa samadi e ¢
(A) g sEa (B) uegmtwEw
(C) #ie (D) 9k 1

11. When will be the growth of population positive in any place and in which
one of the following conditions ?
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(A) High birth rate, low death rate and high immigration
(B) High birth rate, high death rate and low immigration
(C) Low birth rate, high death rate and low immigration

(D) Low birth rate, low death rate and low immigration 1

12. Under which one of the following sectors, collection of information comes ?
(A) Primary (B) Secondary
(C) Tertiary (D) Quaternary 1

13. Read the following statements regarding open-cast mining and choose the

correct option :

I.  This is the cheapest way of mining.

II. The output is in large quantity.

III. It requires specially designed lifts, drills.
IV. It requires special ventilation system.

Options :

(A) Only I and II are correct
(B) Only III and IV are correct
(C) Only I and III are correct

(D) Only II and IV are correct 1

14. Which among the following is NOT the mineral based industry ?

(A) Iron and steel (B) Aluminium

(C) Cement (D) Salt 1
Trafaftaa gra =1 37erae hIfe ST U9 9. 15 9 17 &1 3 fakau :

64/2/2 9 P.T.O.*A
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b 0T HAEYT

T e wem wew % 31 ufeerht Sy Setary &= ¥ srafeud 3 | g7 areda § gAR &
= HaiTYes Ui Use T5ell 3 8 Uk & | S s fomwd: e o1 3= 9igur s9eh!
forRIvaT B | TR TS o S0 RE I T 8, IR g T ST U i T SEnei % 3
& A % HI goferd 81 7S ¢ | T8l WA SRR b Tl foshrE’ qen iy
AT GHI 81 | STl G907 Je9 hishA ®e eI &, fSive amga el § ahadrgas
Toranfeara feram 7o 2 | I8 Fifiehtur sl Teh A YIfH <At TUTall 1 GUTH H % 149G
BRTT | STt W01 Jeie hRishA W, e 9T Seafael o s gl sl IgaHdl & 3T
WTehfcieh HHTEAT o JaE TS |TgeIfeh TevTiiTdT & SR <l STTefifeht sl gure 1 s
A1 2 | TUset 9ig ast 5, Uo7 foemma werer & e umw aeie meft firee gro feranf=a
STt HERT FEE 5 31kt A3 Taret St erme 20 wfwrd gftr 1 sw=m fFan g |

15. fomafafea o & o7 o - frefieor e ad s g ¢
(A) T ife i | Srermshiad (B) fH =t IcaTeehar H HH)
(C) &ftd o o1 foreR (D) N AT U T R 1

16. frfefga # & y-frfertor 1 i a1 Ted Tg@ HRUr R ?
(A)  HaT A (B) = 3cTEeRar
(C) 3Aftres IcTeshar (D) = 9t 1 frr 1

17. SY3T & Ged < |1 YA Hel T8 & 7
(A) ST SHIATNT TgA et 2 |
(B) y-Tftentor & o« § il g R |
(C) TSI HTHR 3 TET eT T J&e sk o fore o feam |
(D) Tel BHT0T Yee = gt 3§ ftr 3 3o & fokiy e fean 2 | 1
Study the following source and answer the Question No. 15 to 17.
A Case Study

64/2/2 10 *A



@2 collegebatch.con

Jhabua district is located in the westernmost agro-climatic zone in
Madhya Pradesh. It is, in fact, one of the five most backward districts of
the country. It is characterized by high concentration of tribal population
(mostly Bhils). The people suffer due to poverty which has been
accentuated by the high rate of resource degradation, both forest and
land. The watershed management programmes funded by both the
ministries of “Rural Development” and “Agriculture”’, Government of
India, have been successfully implemented in Jhabua district which has
gone a long way in preventing land degradation and improving soil
quality. Watershed Management Programmes acknowledge the linkage
between land, water and vegetation and attempts to improve livelihoods
of people through natural resource management and community
participation. In the past five years, the programmes funded by the
Ministry of Rural Development alone (implemented by Rajiv Gandhi
Mission for Watershed Management) has treated 20 percent of the total
area under Jhabua district.

15. Which among the following is correct meaning of land degradation’ ?
(A) Waterlogging in degraded land(B) Declining productivity of the land

(C) Increasing of degraded forests (D) Increasing of agricultural land 1

16. Which one of the following is the main cause of land degradation ?
(A) Soil erosion (B) Low productivity
(C) High productivity (D) Increasing wastelands 1

17. Which statement is NOT correct regarding Jhabua ?
(A) Jhabua is tribal concentrated district.
(B) Poverty has increased in the people due to land degradation.

(C) State government has provided money to implement watershed
management programme.
(D) Watershed management programme has outstanding contribution in
land treatment. 1
GE-@
Y EEAT 18 3R 19 T Senia W |

64/2/2 11 P.T.O.*A
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18. few Ty fom 1 3reaem hifs 3T 3Ees i few e wwat <1 3 fafaw

(18.1) ﬁaﬁ%qmaamﬁaﬂmﬁiﬁm 1
(18.2) 3 ¢ AW & A feAfaT 1 36 Fommi & IS # | 1
(18.3) Temr & A 3TR B & &9 U 3ifehd u==i o I foifaw | Y+ Y% =1
e : FraferRad woa shae gianiia adefat & fofe yod 9 18 % W W E

(18.1)  =THT T foht Q1 HETETRI &1 et 7 7 Y+ %=1
(18.2) AT X o1 fmtor fohmr & o g fopa w2 1
(18.3)  UHTHT &L o gl Toi o 3ifam ot o I fefaw | Y+ %=1

19. feuw e Ea =i ufew 3ir fi= fou e yeai w1 3w fofaw
T TGO < Y@ Aid fafag 3, ARfiiehd FHiv 791 die-hIg ®H, disreiad Aiet-
AT 3TN AR $eTfe § | 578 R, TISSeieht, qe HTgerte Tfafafem & g fafis
Icq Teel HET H BH aTel AR fohg SGEU HE ATel IR 1 SIS S Hehell & |
YRR 31 % T 1 SHiaet o Heyl  eafd Tt o gRy |l S & |

SECTION -B
Question No. 18 and 19 are source based

18. Study the given picture and answer the questions that follow :

64/2/2 12 *A
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Delta of the Nile

To Asia

Bir Hassan Lakee
y  Great
oAy Bitter Lake

o Little
N\ b Biltter Lake

— SHL CANAL
—m RATLWAYS
= FRESH WATER CANAT,

¢ Ain Musa

50 km 0 50 km )/ ® Sudr

(18.1) Name the waterway given in the picture. 1
(18.2) Name the two sea connected by this waterway. 1
(18.3) Name the ports marked as ‘A’ & ‘B’ in this picture. b+l =1
Note : For Visually Impaired Candidates in lieu of Q. No. 18 only.

(18.1) Which two oceans are connected by Panama Canal ? b+l =1
(18.2)  Which country has constructed ‘Panama Canal’ ? 1
(18.3) Name the terminal ports of ‘Panama Canal’. b+l =1

19. Read the given source and answer the questions that follow :

The main sources of noise pollution are various factories, mechanized
construction and demolition works, automobiles and aircraft, etc. There
may be added periodical but polluting noise from sirens, loudspeakers
used 1n various festivals, programmes associated with community
activities. The level of steady noise is measured by sound level expressed
in terms of decibels (dB).

& TG < @l Al § 8 AT gRT el oA T SR HeE ST i § | 36! el

3TR el 3 Teehi T Y el 2 S8 foh ST /e /TSl 3 TR, 3 Hehi i &M
AT HY-F -1 G < Rl (STfamiaset o vy ¥ I8 ek W R et 8 1) agst
64/2/2 13 P.T.O.*A
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TS H IR hl lsidT HTeT bl TG o IARA 1 HUH S et o deh 371eres Hiferd
Tt & | 3T oft et g 6 s @ Fre Seiv % sem o) disan - fr gt # |
waf SIguor T fafire i 2 e seeht s TguT % Hia S T sfieifies &, e
T, gaTé-312 e gEIHnt ¥ g H Bt ST B | WA % hE 9 W& vd wEE §
E TEHYT §5d @A ¢ |

(19.1) AT YguUT 31 37 T8 HIT | 1
(19.2) WA % HER H & TG0 1 ST Hhe 8 ? 1
(19.3) “eaf yguur v ffre g1 8 |7 b afed I8 il | 1

TR HEAT 20 § 23 Y ST THR B T & |
20. (a) “HOi¢dR W fova i S 1 90 Ufierd 38 10 faer T2e vyt 8 e s
2 17 forvar & e fadwer ureT & eyl o 39 e 61w $ife | 3
e
(b) “SETH ! TIS IR THEH 9 S8t Tger TTH i i foom o b @ xd
TIE % &9 § el foman S et § 17 9 1 J9Tfad S ol 319y T

fcrehY SHTehi o HeH U $H YA h! T HIT | 3

21. “YRA Teh T9TE fafaerdn it ufir & |7 30 2 1 g Hifvw | 3

22. WA HfY 6T Th 9 T & €9 H T cq1eshar’ =1 forgemyor Hifr | 3

23. (a) oIl o FATERNTT Gl & Hewe ] TE HIfT | 3
CIDE]|

(b) Wi TETeAT % weeru o Tl <fie 3uTl b1 Tm Shifer | 3

Of all these sources, the biggest nuisance is the noise produced by
traffic, because its intensity and nature depend upon factors, such as the
type of aircraft, vehicle, train and the condition of road, as well as, that of
vehicle (in case of automobiles). In sea traffic, the noise pollution is
confined to the harbour due to loading and unloading activities being

64/2/2 14 *A
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carried. Industries cause noise pollution but with varying intensity
depending upon the type of industry.

Noise pollution is location specific and its intensity declines with
increase in distance from the source of pollution, i.e. industrial areas,
arteries of transportation, airport, etc. Noise pollution is hazardous in
many metropolitan and big cities in India.

(19.1) Explain the meaning of noise pollution. 1
(19.2) Why is noise pollution hazardous in metropolitan cities in India ?
(19.3) “Noise pollution is location specific.” Explain with argument.

Question No. 20 to 23 are short answer type

20. (a) “Broadly 90 percent of the world population lives in about 10 percent
of its land area.” Examine the statement in context of patterns of
population distribution in the world. 3

OR

(b) “Migration may be interpreted as a spontaneous effort to achieve a
better balance between population and resources.” Examine the
statement in context of pull and push factors that influence

migration. 3
21. “India is a land of linguistic diversity.” Support the statement. 3
22. Analyse the ‘low productivity” as a big problem of Indian agriculture. 3
23. (a) Explain the importance of non-conventional sources of energy. 3
OR
(b) Explain any three measures to conserve mineral resources. 3
G -1

T AT 24 ¥ 28 €l T THR b T § |
24. (a) WRd H 9159 ATEH FoR TR 1 To XA TaT o e gl ek TRaE Bq AT
e Ua Herm Uiaed unett § 7 3IgTevl dfed T8 Shifu | 5
T

64/2/2 15 P.T.O.*A
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(b) 9RA H R AR e YA gR o €I § T I o T ol ISTEWN Hfed T8

T | 5
25. Toea o wieshi o feregl aier 3TNl shi U@ HIfT | 5
26. IFAULR AR AfEded § FAT AT ? AP AR b YR o &9 § T G991 §
fir=tar 61 T I | 2+3=5
27. (a) “Fmiur fepenati 0 3= Menfireh! Tefiaam Tl 2 |7 39 q 6l sare i | 5
et

(b) Torgar ° 3= i Srafefa T g9Tierd S aTet fohrgl U PRI hl AT HINT | 5

28. “THAf=d ST forh AT o 3Tdd TRaeT adT §9R, $N 3R 399 defem
foranatt qen a9 argerfies ansti & Ty =1 gatfes mafima & 1 |7 awER
&7 o Ted T 39 oM i Twg FHIfT | 5

GE—-H
T3 GEAT 29 T 30 ARG SERa T8 |

29. foava & feu mu woHifaes T@r-amftas 3 @ma dimfas @emn w1 A, B, C, D, E, F a2 G

g 3ifehd foha T & | I8 9 Tohegl uia &l Tga ffeiRad Seerl <A1 TRt | hifs

IR 37 TE! A I9eh ITE Gl 78 W@l W el
cferor 3Rt o1 ge8 T o
el oSt STt B b 81
TR T3S Yefdl o e g @I
EECLEREE]
3 uftge &t
TR H ST S o
AT § AL Y I7

SECTION - C

Question No. 24 to 28 are long answer type questions

24. (a) How are pipelines the most convenient and efficient mode of
transporting liquids and gases over long distances in India ? Explain
with examples. 5

OR

CHEDOW R
= = T O
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(b) Explain with examples of the importance of Indian ports as gateways
of international trade. 5

25. Examine any five attractions of tourists in the world. 5

26. Why does international trade exist ? Analyse the difference in national
resources as the base of international trade. 2+3=5

27. (a) “High technology is the latest generation of manufacturing

activities”. Explain the statement. 5
OR
(b) Explain any five factors affecting the location of industries in the
world. 5

28. “Integrated tribal development project laid the highest priority on
development of transport and communications, agriculture and allied
activities & social and community services.” Examine the statement in the
context of Bharmaur region. 5

SECTION-D
Question No. 29 & 30 are Map based
29. On the given political outline map of the world seven geographical features
have been marked as A, B, C, D, E, F and G. Identify any five of them with
the help of the following information and write their correct names on the
lines drawn near them :

A. The largest country of South America 1
B. An area of extensive commercial farming 1
C. Easternmost station of ‘Trans-Siberian Railway’. 1
D. A major sea-port 1
E. The shipping canal 1
F. An international airport of Asia 1
G. An international airport of Europe 1
e : Frafaiaa v Fae gfEaita wanfiE & fog e wen 29 % wm w E | B

gie WAt o S ferfee

29.1 &A% i gE H U1 STHIERT o ToH 9 €31 1 A fIRaT | 1
29.2  3TshiehT H ferega anfors ST By &1 w1 A forfa | 1
29.3 UR HT3SREA (oTd o He9 Yol €M 1 91 faRau | 1
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29.4  Siicis < Teh WY@ T U T 19 faRau | 1
29.5  EIAATS TR-TRTE T TTHTT o T8 UfFed o TIH o1 1 TRy | 1
29.6 et Stormi o1 vy ygE ST A fpa qu A g ? 1
29.7 RS JTAIEHE a1y v frm cm A fa B 7 1
30. 9Rd % feu MU g Ter-amtes § frefafea § @ fodl uie imifas @& i
3uh Torgl gra 3ifeha shifSTe 3Tk 3k 7 fafaw
30.1  HaIiereh RIS ATell T 1
30.2 HT!T@EFH \ﬂ"l('i{em ddcd Al sy 1
30.3  hIhI T U IdTGh T 1
30.4 Wadl-dis @ 1
30.5 SR — o SEH SR 1
30.6  ITR-cfRur MR o1 STl fo o1 e 1
30.7  TRRINA — U@ YLl uTE 1
e : Fafafaa wva e gfafea vt % fore wwa @@ 30 & WA | | 5
Tie T34 o St forfae |
30.1  Gdieeh TR ool T T A1 feAfgu | 1
30.2 U S SHEEI] U 9] TS o1 911 fARay | 1
30.3 Il o UL IcUTEH TT o1 AW faIRaT | 1
30.4 wWadldeHiEHraTTREE ? 1
30.5 HFR dc1 IMEF ST fohd T 1 feqa 8 7 1
30.6 IRl MieraR o 3Tt i o WM 1w feafa | 1
30.7 RRING THE T o R Tsa H fRa g 7 1
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Note : For Visually Impaired Candidates in lieu of Q. No. 29 only.

Answer any five questions.

29.1 Name the largest country of South America in terms of area. 1
29.2 Name an area of extensive commercial grain farming in Africa. 1
29.3 Name the western most station of Trans-Siberian railway. 1
29.4  Name major sea port of New Zealand. 1
29.5 Name the western most station of Trans-Australian Railways. 1
29.6  Which country the Mississippi waterways is mainly related ? 1
29.7  In which country Johannesburg international airport is located ? 1
30. On the given political outline Map of India, locate and label any five of
the following geographical features with appropriate symbols :
30.1 State with the highest level of urbanization 1
30.2  State with the lowest level of density of population 1
30.3  The leading coffee producing state 1
30.4  Khetri — copper mines 1
30.5 Jamnagar — Oil refinery 1
30.6  The Northern terminal station of North-South Corridor. 1
30.7  Tuticorin — major sea-port 1
Note : For Visually Impaired Candidates in lieu of Q. No. 30 only.
Answer any five questions.
30.1 Name the state with the highest level of urbanisation. 1
30.2 Name the state having the lowest level of population density. 1
30.3 Name the leading coffee producer state. 1
30.4 In which state are the Khetri copper mines located ? 1
30.5  In which state is Jamnagar oil refinery located ? 1
30.6 Name the northern terminal station of North-South Corridor. 1
30.7 In which state is Tuticorin major sea port located ? 1
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